[BEHRWNEFZUREREE]

QACABIERHR 72—

2024438248 ERERX b3 RER
i £ B R ES g Fi #h £ 2 = E3 g F# i £ =N S g Fi
E it 1LDK-2LDK-3DK| 70,300~90,000(8 = #&| O %2 % 1DK 44500~46,500|8 = #&| — 1DK 37,400~38500(8 = & —
l ' R ﬁ (260) 3LDK 86,800~101,400(8 = #&| 1 (162) 2DK 59,100~61,900|8 = #&| — s =1 1LDK:2DK 50,100~52,900 % E 18 —
E g 1DK-2K-2DK 38,900~52,200(8 = | — J:T#T |Z (147) ?E_)DKK;EBE gg,gggﬁg,;gg ; ig —
=E — (012) 3DK 63,200~65,700[ & = | — b . 600~49, —
ﬁ )' ‘E I\ V) URSA+ T8 [R 1DK 41,500~53,400(8 = #| — i % 1DK 41,400~43,000(|8 = & — INERRAE 2DK 43,000~51,100 % E£#8 O
e Y (149)| 1LDK-2DK 55,000~60,300|8 = | — (168) 2LDK 47,600~ 50,500 % =4 1
R ; H'ﬁ 7| = iE 2DK-2LDK 74.100~91,600| % = 48] — hE X (210) _ 1::<K1DK 3?,;gg~2;,igg ; ig ?
(288) 3DK 74,100~82,200(8 = | — -1K- ,200~46,
A 4B ER Al 1DK 52,800~54300|8 = | — 1DK 57,100~65,800|8 = & — fREf A E 1LDK-2DK 48,100~63,000|8 = #| O
(214) 2DK 70,100~71,700| 8 = | — FAELWEE?2 1LDK-2DK 66,000~80,000|8 = #&| — 3K 54,200~60,800|8 = #| O
—_ R —_ (229)| 2LDK-3DK 78,600~85,700|# = 5| — (212) 3LDK 89,900~97,300(|8 = #&| 4
%%1‘5#& EE IZ (,%E — a1 9 '7 ‘/) URZSA b+ E4£4EE 1DK 37,400~43,000(# = | — ¥ W mE 1LDK-2DK-2LDK-3K|  52,400~71,800|8 = #&| 2
H RFFTAMAL 1LDK-2LDK 53,500~76,700|8 = #| 1 (197)| 1LDK-2DK 53,100~59,200(|# = #| — (245) 3DK 52,400~ 69,900 $ 2% O
—3 N (281) 3DK 53,200~69,800|& = #| 2 ﬁ X w5 1LDK-2DK-2LDK| 53,600~67,500(8 = #| —
R " y BRI 1LDK-2DK-2LDK]| 49,300~74,000|# % #| O (251) 3DK 61,300~65,200 $ FH -
FARERERR-RE e T T A S L 1S A o Dk Ak T sa000—64 500l 5 8= O e S W e
RIAEA 1LDK-2LDK-3DK| 65,100~79,300| & 222 . ,000~64, — ,100~67,
(262) 3LDK 76,900~78,700(8 = | — 1LDK -2DK 74,700~96,300| 8 = 5| — ¥ W 2DK 48,100~48,400(8 = #| —
1R-1DK 57,900~61,600|8 = & — R S 3DK 91,900~106,200|8 = 4| — (035) 3DK 52,300~64,000|8 = | —
O — BHtEA—T 54 | 2LDK-3DK | 84,200~109,800(8 = #| — 3LDK 105,300~ 120,700| 8 = #| — #1 A 48 (080) 1K~ 3K 31,000~64,300|& = #| —
1 SFLUlE®D 3LDK (+S) 90,400~127,700(# = #&| 1 (412) 4LDK 122,700~127,000|8 = & — E']_"-}“ll:?ﬂi
s (328) 4DK 104,900~106,100|8 = #| — URS A+ EMHHET 1DK 39,000~52,100|8 = #| —
ZRDBBYET 1LDK-2DK 59,900~74,000(8 = | — (208)| 1LDK-2DK 51,500~58,200(8 = #| — 1DK 51,000~52,400 % E 18 —
= EREH BRAEALE 2L DK-3DK 65,100~ 73,800 % z# O h & 1DK 35,900~42,500 % E48 — o . 1LDK-2DK 59,300~ 70,000 % £ 3
¥ =XF (313)| 3LDK:4DK 70,500~79,700(# = #| 1 (123) 2DK 54,400~55,000(8 = #&| — )= 4EE | 2LDK-3DK 61,500~82,500(8 = | 4
oo B A3 1LDK-2LDK 73,800~88,900(# = | — 1DK 40,100~40,400|8 = #&| — 3LDK-4DK 63,200~87,100(# = #| 3
—El ZXR7 BAETOER 3LDK 70,300~87,600|8 = #| O NEKRE 1LDK:2DK 55,900~ 82,700| & i E — (299) 4LDK 80,900~99,100|8 = #| —
(297) 4L.DK 81,500~103,600(8 = #| 2 2LDK+S 89,100~96,600| & —
HYFEEA, —_ (144) 3DK 70,500~71,400| 8 = #&| — /\'pﬁ'_ﬁ
URSAhEld. BB EDHO BARRX . 1R-1K-1LDK-2DK| 41,100~59,000(# % #| O
HEIEHERDIETT = 3DK 68,800~72,700|8 = #| — UJ*—I- IZ g2 L 3K-2LDK 40,900~59,500|8 = #| O
B BEGHAHT (253) 1R-1DK-1LDK | 35,200~60,600|8 = #&| — (184) 3DK 47,500~57,600(8 = #&| 3
F O—EMIENESTE W ) 2DK 50,700~61,200 i i E — ﬂﬂgﬂﬁ?ﬁ] Ill mT
= #HEMSAT (190 2LDK 87,100|% —
#H BHFEET —_ R . s i 1LDK-2DK 44,000~62,600(8 = #&| 2
rrosemtzoss. | AR B BB (AT - FH AR AR ZEHT) % 1 W 15.500~5 6001 % 5 i —
ETREEHILIBENHYET, = oo (217) 4L.DK 72,900~86,800(# = | —
BB EREARETE @ﬁ%ﬂﬁﬁf’b%ﬁfﬁﬁﬁli & @
~ > . —
= 2L DK-3DK 44.800~57,800|8# = #| O
= EE&‘DURE%%#&K EH& ® = 3LDK 57.200~66,100| & & 48] 2
Y —EE /LS 4L DK+S 66,400~70,300|8 = | —
iE]IEX{T zC ﬁ<1‘~$l'\ o (276)[ 5LDK+S 68.600~82,500| & = & —
KiE™ (GHER)
_%%E%&U:’%LW:T:‘(L%E%O) FEFT A E 1LDK-2DK 37,500~42,000 % E 18 —
FREES-REZERXEAOTE&E:NL{EEL, (141) 13;( 43,5oo~gg,ggg ; ig =
= .ok s A W 1LDK 35,800~42:800 HEH —
BEETOEHAAITHETFEA. SDK 34400~40700[E & —
'Y I (164) 3K 37,900~44900|8 = #| O
POCTITAS A G RIS RISV T, /S TLyMEC R,
o [ ]
:: =.. R EAFOFEICOLTIE, HE-REEN—HEAIZLGZENHBYETDT
o o0 R—LR—UR(FEREE L F—ICTITHERIEILY, LPEEROTHHVADEESN, REIX2023%2A1ARE,
a
...... .
L I']
QUICK ATTEND



https://www.qac.co.jp/ur-kansai/estate_ur3.html
nakamura
qac_1

nakamura
qac_f2


